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14-7^8
2 4-7=9
3 4- 7 = 10

4 4- 7= U
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[1. If I pay 60 dollars for a horse, and twice as much
a waggon-; what is the cost of both?

12. 6-1-74-74-74-74-7 = how many?

(139)

Ichard gave 1 7 marbles to each of his 4 brothers ; how
[many did he give to all ?

(140)

man has three farms, one containing 600 acres

[another 243 acres, and another 176 acres ; how many

I
acres in the three farms?

(134) (141) (142) (143) (144)

31021 72463 37104 32576 21043
46063 21463 46707 43747 72664
35466 72767 47663 34576 10550
46563 01264 36746 32747 32660
45466 72106 77637 63576 47660
36563 32147 26717 36747 74068

(138) (145) (146) (147) (148)

36102 32136 36775 32603 72107
46104 42367 77456 72362 64736
66506 63676 36775 76324 86378
46506 37653 77466 47634 73647
4564 64673 36775 76047 37436
636 46876 77456 56754 63476
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